Ready-to-progress assessment 


Which of these are correct complements to 100 and which have an extra 10? Tick the correct column. Explain your answers.


	
	Correct bond to 100
	Incorrect bond to 100 (extra 10)
	Explanation

	28 + 72
	
	
	

	61 + 49
	
	
	

	55 + 45
	
	
	

	43 + 67
	
	
	

	84 + 16
	
	
	

	39 + 71
	
	
	






Fill in the missing numbers. 
		
		



A dressmaker had 1m of ribbon. Then she used 22cm of it. How many centimetres of ribbon does she have left?
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A toy shop sells ping-pong balls for 65p each. If I use a £1 coin to pay for a ping-pong ball, how much change will I get, in pence? 
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Mr Jones has 100 stickers. 47 of them are gold and the rest are silver. How many are silver? 
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